

Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: PPMP-2025-092524-0468

PR No.: GF-2024-10-02643

Date: 10-08-2024

Dept./Office: DTHM

DTHM

Category: Food & Food

Section/End-User: Noessa C. David

Ingredients

Funding Source: General Fund - MOOE

Project Title/Code: DTM-Higher Education-2025

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Day 3 Meals (Breakfast) of the Participants and Resource Person of the TPMS Training	person	2	250.00	RANDY G. OMEGA	500.00

Specification:

Meals in Buffet Style (with tables and chairs)

Menu for BREAKFAST

- Luncheon Meat
- Boneless Bangus
- Scrambled Egg
- Banana
- · Coffee/Hot Chocolate Drink

2 Participants and Resource Person person 12 350.00 RANDY G. OMEGA 4,200.	2		person	12	350.00	RANDY G. OMEGA	4,200.00
---	---	--	--------	----	--------	----------------	----------

Specification:

Meals in Buffet Style (with tables and chairs)

Menu for Lunch

- Rice
- Chicken Curry
- Breaded Pork
- Pinakbet
- Pineapple
- Soft Drinks

2	Mode /Parel for the grant		THE PERSON NAMED IN COLUMN TWO IS NOT			
٥	Meals (Breakfast Buffet Style)	person	2	160.00	DANDY C. CHECA	
	C=1/11			100.00	RANDY G. OMEGA	320.00

Specification:

RICE

	CORNED BEEF WITH POTATOES							
	POACHED EGG							
	CHICKEN TEMPURA							
	PAPAYA/BANANA							
COFFEE WITH MILK/TEA/MILO								
	COFFEE WITH MILK/TEA/MILO							
4	Meals (Dinner) Buffet Style	person	12	200.00	RANDY G. OMEGA	2,400.0		
	Specification:							
	With free venue for dining (tables and	chairs) within	n VSU					
	Buffet Style							
	Menu:							
	• Rice							
	Chicken Adobo							
	Chopsuey							
	 Steamed Fish 							
	Pasta							
	 Juice/softdrinks 							
	• Water							
5	Meals Dinner (Buffet style)	packs	2	250.00	RANDY G. OMEGA	500.0		
	Specification:							
	Seafood Curry or any seafood menu							
	Pork Humba or any pork menu							
	Pesto Pasta or any pasta menu							
	Garden Salad or and salad menu							
	Garden Salad or and salad menu Buko/Mango Pandan Salad							
	Buko/Mango Pandan Salad							

.

Specification:

Buffet style (with tables and chairs)

- Rice Seafood Curry (fish, shrimp, squid & shells)
- Chicken Cordon Blue Lasagna Supreme
- Buko/Mango Pandan Salad Softdrinks
- with lechon 35-40kis
- · with cocktail drinks Rate 360 of 120 persons

7	Packed Meals (Lunch) Menu#6	pack	12	200.00	RANDY G. OMEGA	2,400.00

Specification:

MENU (6)

- PORK STEAK
- RICE
- STEAMED FISH
- LOMI
- FRUITS
- LEMON JUICE or MINERAL BOTTLED WATER

8	Packed Meals for Breakfast (200.00)	packs	2	200.00	RANDY G. OMEGA	400.00
---	-------------------------------------	-------	---	--------	----------------	--------

Specification:

Please encircle your preferred breakfast below:

Choose (1) menu only:

MENU (1)

- HAM
- BACON
- OMELLETE
- RICE
- LONGANISA
- COFEE/MILK/MILO/JUICE
- MINERAL BOTTLED WATER

MENU (2)

- EGG
- CHORIZO
- LONGANISA
- LUNCHEON MEAT
- BANGUS PAKSIW
- COFEE/MILK/MILO/JUICE
- MINERAL BOTTLED WATER

MENU (3)

- EGG
- BACON

 DANGGIT HOTDOG BANANA COFEE/MILK/MILO/JUICE MINERAL BOTTLED WATER TOTAL 15,040.00 Purpose: For RPs faculty and staff Checked by: Funds Available: ALICIAM. FLORES ALEXANDER LOCABRAL TWG - Food & Food Ingredients

RANDY G. OMEGA

UNIT HEAD, PROJECT LEADER

Noted by:

Prepared by:

NOESSA C. DAVID

Signature:

Printed Name:

Designation:

HEAD, BUDGET OFFICE

Approved by: _

hones

PROSE IVY G. YEPES

PRESIDENT, VSU